L =X BiER

10 - 20 - 30 DL Af4%E48248
& {i K % ouT I'N TOTAL| HDCP NET
& | HEE 45 45 90 144 | 756
T EEEE 49 47 96 204 | 75.6
3 | EFEEA 43 38 81 4.8 76.2
4 ]| BE BT 48 48 96 19.2 | 768
5 fi| L 48 54 102 | 252 | 768
B-B] ZH Rt 68 65 133 36 97

A0 DEB
- v K % ouT I N TOTAL| HDCP NET
BB BEBEA 39 39 78 4.8 73.2
#Ep  JEE EE 46 38 84 108 | 73.2
3 fi| IR IME 40 41 81 7.2 73.8
4 ] A EZ 49 39 88 132 | 748
5 fir| Hik B 47 51 98 228 | 75.2
B-B] &AEET 72 74 146 36 110
50 DEB
& {i K % ouT I'N TOTAL| HDCP NET
& m REFEEE 46 46 92 18 74
emEp BHE E— 46 38 84 9.6 74.4
3 fu| BIF i 38 39 77 2.4 74.6
4 fi]| #B EM 40 42 82 7.2 74.8
5 | Rl EE 56 47 103 | 276 | 754
B-B] LEHEEF [ 56 57 113 24 89
60t DEB
- v K % ouT I N TOTAL| HDCP NET
& E&-—2 35 42 77 8.4 68.6
T RS 45 52 97 252 | 718
3 fu| 1=K H#w 43 45 88 12 76
4 fu EaxR— | 45 44 89 12 77
5 fi| @l BH— 54 59 113 36 77
B-B] WHE 62 50 112 | 264 | 856

70 - SO DEB
& fi K % ouT IN TOTAL| HDCP NET
& | EE RS 45 38 83 9.6 73.4
T EETETS 52 48 100 | 228 | 77.2
3 | BFRE 50 43 93 156 | 774
4 ] EEBR—BB | 48 48 96 18 78
5 | =B ERR 43 48 91 108 | 80.2
B-B] TH=Z 50 51 101 | 192 | 818




